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_ _rep'ly cannot be sent

“from the premises

Determme'n 1f P(n,, 2)'_. .

Define a complete gmph :

index of H in G

Draw the Hasse dia'gré' of where. - the :é‘i:.-:of"aﬂ.pos.'itive divisors

of 24 and / 1s lelSIOH S

Prove that (a ) a fm ali a ef is:a Bo ea"'AIg_'ébra.':_- i :




S G PART B — (5 x 16 = 80 marks)
Sa :j_ 11 ( < )_: (1) Construct the truth table for the following statement (8)
. S "__[(p\/(qf\?‘))%((pvq)/\(pvr))_ .

(iij_ ‘If there was a ball game, then travelling was difficult. If they g
“vvarrived on time, then travelling was not diffieult. They arrived on
. time. Therefore, there was no hall game”. Show that these

statements constitute a valid argument. (8)
I - Or .
E (b) (i)f_f'. Construct  the principal  disjunctive normal  form  of
o p=sle—>aaTI(Tev ). ) ' (8)
(n) L Use the indirect method to prove that the conclusion Jz6}z) from
- the premises Va(P(x) — Q(x)) and IyP(y). Lo 8
iy ;'-"Sﬁ;jpose a department consists of eight men and women. In how
_many ways can we seléct a committee of i 8)

. (1) Three men and four women? _
(2) - Four persons that has at least one wornan?

(3)" Four persons that has at most one man? _
~.(4) . Four persons that has persons of both gender?

i) Use .gEnerating functions to solve the recurrence relati'on_ R (8)

S = 3a,, +1; n>1 with a, =1.

S Or S
i}, U_sé-.mathematical induction to prove that (3" + 7" - 2) is divisible
o bygfornzt. . o ®
hie '3_01'?9 the recurrence relation a, = 2a,_y + 2”;@0 =20 (8}

= 13 : (a) (1) Deﬁne a connected graph. Which of the given graphs are Cbhﬁeéted? (8)

: : Vi O . . V] Vg -
¥ V, ¥ :
vV o
Vi 15 V. Vi ¥,
o € i & B o Vt‘; ; V-?

(11) EXplaln Euler circuit and Euler path. Determine whether the given
- 8raph G has an Euler circuit or Euler path. o (8)

V“l =) V : '
v b 4
Vl " i/l
Or




(b) ()  Prove that the maxzmum numbex of edges in a Sm‘l}ﬂe disconnected
Y n—~k+1
) : ) (8

gfaph G Wlth n Vertzces and fe components 18

(i) Examme whether the foll{)wmg palr of giaphs are 13011101}3}110 i
isomorphic. label the Vertlces of the two graphs to show that their
ad}acency matrices am the same. ;Lo (8)

@@

(&)
(ii) .
(b)
15, @ @) -
(i) -

of {a By and a
Boolean algebra




